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I nmwn: (continuation from 7 mwn): limits on ability to be w*Tpn
a  Invalid: if he tries to be w*7pn his »12» Mnaw/Tay or Nipn N1V — they don’t belong to him
b o151 o227 all agree that n1nd cannot declare pn
i p% ™ - also may not declare 0In; v — may declare nIn, as they don’t inherit on (unlike o2n>)
¢ a7 prefers »™'s approach re: land, per v. 1; w"’s approach as regards p5v50n
i Analysis of dispute:
1 »”2 we understand his position re: D113 and re: 0%’s land (per v. 1), but why not allow PYv%on nnn%?
(a) Answer: v.2 compares IMMNR 1TV to PHVYVN
2 w”: we understand his position regarding o9 »>v50n, but why does he allow them mypip oIn?
(a) Answer: he only allowed n™? to be p5v%0n DN
(b) Challenge: 27's comment indicates that w”’s ruling was also re: ypap
(i) Answer: 21 meant that v agrees with » about n™m% ypap
I Various rulings related to o'nan
a  pan 72 870 77 if someone is 50901 *INN, he may give it to any 113 he wants, per v. 3
i butif he is mnn his fields, he must give them to the jn3 of that 1nwn, per v. 4, inferred from v. 5 (0 H1)
ii  challenge (101523 92 ij7im7): why not compare Yp1p::p»050n and allow him to give land to any jn3 he chooses
1 answer (773X 77): as we see, some accept that wp'n (nTn’ "1) and others do not (v™) — this follows v™
b timing of on gift: a field goes to amwn which is on duty when 5av begins
i question: what if 5av falls on naw (when m nwn change over)?
ii  Answer (’o8 72 471 ’9): given to Inwn which is leaving
¢ 77 %2y and nonw act (nearly) at once — NVNWY at end and Yav at onset (a few minutes later)
i Avpw. per v. 6; but b2y begins on " (v. 7)?
1 Answer: per 2”17 5¥ 11 YRYNY’ - Y1V begins on 1™
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III y mwn: Status of NN

a

b

p7772 2P have no 1178 — given to 0203 just like NN
i Note: mnn are full w1pn while in owner’s house (per v. 2); once at jn3’s house, fully p5n (v. 3)
Default status of o7 NN 12 " 1 — to 2”nT1 (end of v. 2)
i onon. default beneficiaries are 0’1, per v. 4
ii ~ And: they interpret v. 2 as allowing nIn to take effect even on 0*w1p »w1p and vp DWVIP
1 2727 v. 4 compares DN NTV::1NNR NTY; both are given to all o103 (of that Anwn) at Hav
(a) Therefore: if he was w*1pn his own nIn nTv, he can’t just keep it at av, but it divides out
(b) p2porr infer that from bInn (2”271 disregards significance of n”n)
2 37p7 infers ruling that nIn is DWTP Y Yn as does YRYNY’ "1 (end of 1 mwn, below)
27 ruled in accord with our version of 2”2, which he had reversed (1327), both in mwn and ®n»a (default 2> n*an p13)
Story: fellow in kn>71ama was o nn everything he owned
i /mr a7 advised him to be Y9nn on 4 11 and throw them in the river
1 Inference: he holds like 11 (above) — n»an pT2% WNIN DNO
2 And: he followed YRmnw that wTpn worth any amount can be 5911 on a nvM9 MY
(a) Note: H9R1W’s ruling was only presnted as 7a»772 (92100 NV MY HY HYHNY Man MY VTP’
(b) Defense: that is when there is a wTpn; in our day, it may be used n>nna%
(i) Question: why require 4 1?7 A noya is sufficient
(if) Answer: to publicize the need for j»19
ii &5 would have given the possessions to the 073 (he holds that n’13n2% nIn DNV)
iii ~ Challenge (to story): none of the following apply if 5av is not in effect:
1  ay7wperv.8
2 Anny ATy per v. 9
3 o onz perv. 10
4 pwnnaTw (7avy): per v. 4
5 v w(x7av7): per vv. 11-12
6  Defennse: the limitations only applies to Ypp; 905001 nIn applies
(a) Challenge: the story in Xn»7ama was about ypp
(b) Answer: ypap of 9 is akin to povYon (i.e. only »R »»pp affected)

IV 11 mwn: Examples of n'non’s rule (above); if it was a 9T, he gives its value; if a nam, pays nRkin naw

a

b

Example: if he declared n%y nr 19w (nam) —what someone would pay to be able to offer it as n%1p “tho n1yn 70
Example: 1132 — on OR n”pa — can be 0mn; redeemed per value that one would pay to have it given to his jna-relative

V 2t mwn: YRYnw '7’s resolution to contradiction between v. 13 (w772 ®Y) and v. 14 (v*1pn)

a

Resolution: you may be w*1pn for "%y (i.e. to give its value to wTpn) but not narn?

b Note: this is an alternative source for nIn applying to vTpn

i opom read v. 13 as presenting the WY (of being w»Tpn a M131)
1 And:v.14 (v7pn) teaches that even though 7131 is bnIn w17, there is a mxn to be v 1PN
2 »"rnoneed to be wr1pn, since it is onNIN VITP

www.dafyomivicc.org T3 © Yitzchak Etshalom 2012




